\\\\

F] SH B O N E (/(‘m? INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB25218
// \ Jeep® 07°- 18’ 2-Door JK Wrangler

Luggage Rack

VIDED RVAILABLE

REQUIRED TOOLS KIT CONTAINS QTY
6MM Allen Tub Rail Support Plate (Left & Right) lea
17MM Socket Center Cross Plate 1
13MM Socket M10 Bolt 6
Drill M10 Nyloc Nut 6
7/16” Drill Bit M10 Flat Washer 16
Pencil/Marker Hard Top Knobs 4

M8 Flat Washer 2

M8 Hex Nut 2

INSTALLATION REQUIRES BACK SEATS TO BE REMOVED, AND DRILLING
AND MODIFICATION TO YOUR HARDTOP AND VEHICLE

DISCLAIMER: BY CHOOSING TO MODIFY YOUR VEHICLE, FISHBONE
OFFROAD IS HEREBY NOT LIABLE FOR ANY AND ALL DAMAGE TO SAID
VEHICLE, AS WELL AS ANY HARM TO YOURS OR ANOTHER’S PERSON AS A
RESULT OF MODIFYING ANY PART OF THE VEHICLE AND/OR THE
PURCHASED PRODUCT. PLEASE TAKE CAUTION AND MODIFY WITH
EXTREME CARE TO AVOID DAMAGE.

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



FISHBON € ¥
2

1)

2)

)

OFFROAD b

b 33

REMOVE BACK SEAT
Remove your vehicle’s back seats while taking care
to not damage the fabric or your vehicle’s paint job.

Store all removed hardware in a safe location in the
event of reinstalling the seats.

PRE-INSTALL THE SUPPORT PLATES

The orientation of the Support Plates can be
determined by the location of the smaller,
unbranded section.

As shown above, this section will always face the
rear of the vehicle, and the tub rail holes will cover
your vehicle’s rearmost rail holes.

Secure it with (1) of the included Hardtop Knobs
lead by a Flat Washer.

INSTALLATION INSTRUCTIONS

PART No.

FB25218

Jeep® 07°- 18’ 2-Door JK Wrangler

3)

4)

5)

Luggage Rack

With your marker, mark the location of the
forwardmost Support Plate hole that will be drilled
out later.

Repeat on the opposite side.

Once marked, uninstall the two Support Plates.

DRILL

With a 7/16” drill bit, drill a hole, where you
marked, through both your hardtop and tub rail by
creating a pilot hole and working up to the required

INSTALL THE SUPPORT PLATES
Refer back to Step 2. Following the same method,
reinstall the Support Plates.

Completely secure both plates using (2) of the
included Hardtop Knobs and M10 washers into the
rearmost rail holes, and (2) Hardtop Knobs, M10
washers, M8 washers, and M8 nuts into the
forwardmost rail holes using a 13MM Socket.

INSTALL THE CENTER CROSS PLATE

With the Fishbone Offroad name plate facing the
rear of the vehicle, raise the Cross Plate up and in
between the two Support Plates.

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



PART No. FB25218
Ko Jeep® 07°- 18’ 2-Door JK Wrangler

Luggage Rack

‘.\%\gj
Fl S HBON Eé(/(( INSTALLATION INSTRUCTIONS
Z

OFFROAD b

Secure each side with (3) Bolts, (6) M10 Flat
Washers, and (3) Nyloc Nuts.

Tighten down the bolts with a 17MM Socket and a
6MM Allen wrench.

6) ENJOY YOUR NEW FISHBONE OFFROAD LUGGAGE
RACK!

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



